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12-1. BEFEOREEBHIZ OV TLUTORMICBEALIZEn, <BE—FHOZ/l [BMEkE] >

ARb | ABEZE [ #n BV ek A~ B
AL 317 316 133 139 44 1
100.0 100.0 421 44.0 13.9 0.3
ap L er 12 12 6 6 - -
100.0 100.0 50.0 50.0 - -
NRE AT 13 13 2 9 2 -
100.0 100.0 154 69.2 154 -
~L— 9 9 4 4 1 -
100.0 100.0 44.4 44.4 1.1 -
T 36 36 14 20 2 -
100.0 100.0 38.9 55.6 5.6 -
FTILE LT 30 30 12 13 5 -
100.0 100.0 40.0 433 16.7 -

A% 141 140 63 56 21
100.0 100.0 45.0 40.0 15.0 0.7
= AN - - - - - -
g - - - - - -
AF o 76 76 32 31 13 -
100.0 100.0 421 40.8 171 -
TITARY T A 1 1 1 - - -
100.0 100.0 100.0 - - -
2N BT F =T 14 14 1 7 6 -
100.0 100.0 7.1 50.0 42.9 -
NN YT F =T - A - - - - - -
HRF = - - - - - -
F T IRA - - - - - -
FUU - - - - - -
arvA 7 1 1 1 - - -
100.0 100.0 100.0 - - -
o= - - - - - -
A= - - - - - -
77 F 77 b - - - - - -
¥L—mn - - - - - -
v - - - _ — _
N Z T - - - - - -
SFaTHY - - - - - -
EL—B A - - - - - -
Ak 5 5 3 2 - -
100.0 100.0 60.0 40.0 - -
F¥U v b - - - - - -
XTR - LA 1 1 - 1 - -
100.0 100.0 - 100.0 - -
AT T - - - - - -
T 75 - - - - - -
FLAua 3 3 1 1 1 -
100.0 100.0 33.3 33.3 33.3 -
FoHS e m— - - - - - -
ANV G S N N 1 1 1 - - -
100.0 100.0 100.0 - - -
a7 - - - - - -
V)7 - - - - - -
HINA T - - - - - -
K< YRR - - - - - -
hy T AH—F - - - - - -
NS TR - - - - - -
BB - - - - - -
YT A A - - - - - -
HFLX 32 32 14 14 4 -
100.0 100.0 438 438 125 -
MR 18 18 10 6 2 -
100.0 100.0 55.6 33.3 1.1 -
AH - - - - - -
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12-1. BEFEOREEBHIZ OV TLUTORMICBEALIZEn, <BE—FHOZ/l [BMEkE] >

HEb | AR s R W B

W 317 316 133 139 44
100.0 100.0 42.1 440 13.9 0.3

¥k IREE G 132 132 49 54 29
Fil 100.0 100.0 37.1 40.9 22.0 -

BB - BEAKENN T 12 12 4 7 1
100.0 100.0 333 58.3 8.3 -

fltE 2 2 1 1 -
(BhAR - #e - AbohkiE) 100.0 100.0 50.0 50.0 - -

AR - MhE R 3 3 1 2 -
100.0 100.0 333 66.7 - -

Abt - KELE (R - A - - - - -
7 ) T AR <) - - - - - -

FH AT ) TR, - - - - -

. LT 3 3 1 2 -
100.0 100.0 333 66.7 - -

b, AhE 8 8 2 4 2
100.0 100.0 25.0 50.0 25.0 -

7T ATy 7B 3 3 2 1 -
100.0 100.0 66.7 33.3 - -

= 3 0 1 1 1 - -
100.0 100.0 100.0 - - -

= L 2 2 1 - 1
100.0 100.0 50.0 - 50.0 -

2. A 1 1 - 1 -
100.0 100.0 - 100.0 - -
sl 4 4 4 - - -
(PR L & 5 Te) 100.0 100.0 100.0 - - -
e 4 4 2 2 - -
100.0 100.0 50.0 50.0 - -
4B B 7 7 - 4 3 -
(A XML aE&ETe) 100.0 100.0 - 57.1 429 -
— sk 5 5 - 4 1 -
(&7 - T B A 5 Te) 100.0 100.0 - 80.0 20.0 -
X - AR 11 11 6 3 2 -
100.0 100.0 545 273 18.2 -
R - BN 17 17 5 7 5 -
100.0 100.0 29.4 412 29.4 -
i 16 FH p i 18 18 8 7 3 -
(B EhEE - ) 100.0 100.0 44.4 38.9 16.7 -
i 08 AR 2R o 16 16 8 1 7 -
(I EhEE - ) 100.0 100.0 50.0 6.3 438 -
LRt 2 2 2 - 2 - -
100.0 100.0 - 100.0 - -
= = 2 2 1 1 - -
100.0 100.0 50.0 50.0 - -
IR« Hi R - - - - - -
= O B 3 11 11 2 5 4 -
100.0 100.0 18.2 455 36.4 -
LG B 185 184 84 85 15 1
100.0 100.0 457 46.2 8.2 0.5
- KEE - - - - - -
- MRE 3 3 - 1 2 -
100.0 100.0 - 333 66.7 -
Hr¥E 1 1 - - 1 -
100.0 100.0 - - 100.0 -
ByDBLii 1 1 1 - - -
100.0 100.0 100.0 - - -
et 46 46 16 28 2 -
100.0 100.0 348 60.9 43 -
Rt 75 75 39 32 4 -
100.0 100.0 52.0 427 5.3 -

AT 7 7 6 1 -
100.0 100.0 85.7 14.3 - -
PRBR 5 5 2 2 1 -
100.0 100.0 400 40.0 20.0 -

FIF 1 1 - 1 -
100.0 100.0 - 100.0 - -

LY=o 16 16 4 8 4
100.0 100.0 25.0 50.0 25.0 -
R 1 - - - - 1
100.0 - - - - 100.0

B - Bl - - - - -

RTINS hAT S IR - - - - -

WE/ Y7 o7 8 8 3 4 1
100.0 100.0 375 50.0 12.5 -

e AV AN 8 8 7 1 -
100.0 100.0 875 12.5 - -

Z DOt FEREE 13 13 6 7 -
100.0 100.0 46.2 53.8 - -
A - - - - - -
AP S 289 288 125 125 38 1
¥ 100.0 100.0 434 434 13.2 0.3

H e 28 28 8 14 6
i 100.0 100.0 28.6 50.0 21.4 -

GIIERE - - - - -
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12-2. BHOWEEEEBIZOWVWTU TORMIZBEZLZS VW, <BEFHOL [ARANEAER] >

ARb | ABEZE [ #n BV ek T~ B

KK 317 302 77 204 21 15
100.0 100.0 255 67.5 7.0 47

oL T 12 11 4 7 - 1
100.0 100.0 36.4 63.6 - 8.3
NRE AT 13 13 1 9 3 -
100.0 100.0 7.7 69.2 23.1 -
~JL— 9 9 2 7 - -
100.0 100.0 222 77.8 - -

T 36 35 10 25 - 1
100.0 100.0 28.6 71.4 - 28
FTILE LT 30 30 3 25 2 -
100.0 100.0 10.0 83.3 6.7 -

A% 141 131 36 87 8 10
100.0 100.0 275 66.4 6.1 7.1
= AN - - - - - -
g - - - - - -
AF o 76 73 21 44 8 3
100.0 100.0 28.8 60.3 11.0 39
TITARY T A 1 1 - 1 - -
100.0 100.0 - 100.0 - -

2N BT F =T 14 13 2 5 6 1
100.0 100.0 15.4 385 46.2 7.1
2NN e BT =T « AJL - - - - - -
BT = - - - - - -
F T RA - - - - - -
FIT - - - - - -
a7y A7 1 1 - 1 - -
100.0 100.0 - 100.0 - -
o= - - - - - -
N AZVa=1 - - - - - -
775 b - - - - - -
FlL—n - - - - - -
v - - - - - -
N Z T - - - - - -
SFaTHY - - - - - -
EL—B A - - - - - -
A b= 5 5 1 4 - -
100.0 100.0 20.0 80.0 - -
Fx Vb - - - - - -
XTR - LA 1 1 - 1 - -
100.0 100.0 - 100.0 - -
AT T - - - - - -
T 75 - - - - - -
FLAua 3 3 1 2 - -
100.0 100.0 333 66.7 - -
XA m— - - - - - -
AV 2% 7SI N N 1 1 - 1 - -
100.0 100.0 - 100.0 - -
a7 - - - - - -
VA - - - - - -
HINA T - - - - - -
K< YRR - - - - - -
hy T AH—F - - - - - -
N7 T VA - - - - - -
BB - - - - - -
YT A A - - - - - -
HFLX 32 32 11 20 1 -
100.0 100.0 344 62.5 3.1 -

MR 18 16 6 9 1 2
100.0 100.0 375 56.3 6.3 11.1
AH - - - - - -
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12-2. BHOWEEEEBIZOWVWTU TORMIZBEZLZS VW, <BEFHOL [ARANEAER] >

HEb | AR s REIEW W A~ B

W 317 302 77 204 21 15
100.0 100.0 255 675 7.0 4.7

Eh- S 132 126 36 78 12 6
Fill 100.0 100.0 28.6 61.9 95 45
BB - BEAKENN T 12 11 3 7 1 1
100.0 100.0 273 63.6 9.1 8.3

wGHE 2 2 1 1 - -
(e - w4 - ALZFAHE) 100.0 100.0 50.0 50.0 - -
AR - WRHE R A 3 3 - 3 - -
100.0 100.0 - 100.0 - -

b - AfLE (FE - A - - - - - -
7 ) T AR <) - - - - - -
FH A7) TR - - - - - -
I A 3 3 1 2 - -
100.0 100.0 333 66.7 - -

b5, AhE 8 8 2 4 2 -
100.0 100.0 25.0 50.0 25.0 -

7T ATy 7B 3 3 - 3 - -
100.0 100.0 - 100.0 - -

= 3 0 1 1 - 1 - -
100.0 100.0 - 100.0 - -

= L 2 1 - 1 - 1
100.0 100.0 - 100.0 - 50.0

E = . o ] 1 1 - 1 - -
100.0 100.0 - 100.0 - -

sl 4 4 1 3 - -
(PR L & 5 Te) 100.0 100.0 25.0 75.0 - -
e 4 4 2 2 - -
100.0 100.0 50.0 50.0 - -

4 B 7 5 1 4 - 2
(A v FIMTE&ETe) 100.0 100.0 20.0 80.0 - 28.6
— Mk 5 5 1 4 - -
(&7 - B TR A 5 Te) 100.0 100.0 20.0 80.0 - -
X - AR 11 11 4 5 2 -
100.0 100.0 36.4 455 18.2 -

A - BN 17 15 3 9 3 2
100.0 100.0 20.0 60.0 20.0 11.8

i 16 FH p 18 18 7 10 1 -
(B EhEE - i) 100.0 100.0 38.9 55.6 5.6 -
i 126 FH B0 o 16 16 5 11 - -
(A EhEE - ) 100.0 100.0 313 68.8 - -
LRt 2 2 2 - 1 1 -
100.0 100.0 - 50.0 50.0 -

=R A 2 2 1 1 - -
100.0 100.0 50.0 50.0 - -

IR« Hi R - - - - - -
T DfhESE 11 11 4 5 2 -
100.0 100.0 36.4 455 18.2 -

FHEFE 185 176 41 126 9 9
100.0 100.0 233 716 5.1 49

1 - KEE - - - - - -
Jg - PR 3 1 - 1 - 2
100.0 100.0 - 100.0 - 66.7

IS S 1 1 - - 1 -
100.0 100.0 - - 100.0 -

it 1 1 - 1 - -
100.0 100.0 - 100.0 - -

Pt 46 44 17 25 2 2
100.0 100.0 386 56.8 45 43

Rt 75 74 11 61 2 1
100.0 100.0 14.9 82.4 2.7 13

AT 7 7 4 3 - -
100.0 100.0 57.1 429 - -

PRIR 5 5 - 5 - -
100.0 100.0 - 100.0 - -

RS 1 - - - - 1
100.0 - - - - 100.0

LY=o 16 16 4 11 1 -
100.0 100.0 25.0 68.8 6.3 -

REhE 1 - - - - 1
100.0 - - - - 100.0

E% - BB - - - - - -
RTINS NAT S IR - - - - - -
WE/ Y7 o7 8 8 - 7 1 -
100.0 100.0 - 875 125 -

7T b 8 7 3 4 - 1
100.0 100.0 42.9 57.1 - 12.5

Z Dt FEREE 13 12 2 8 2 1
100.0 100.0 16.7 66.7 16.7 7.7

A - - - - - -
AP S 289 277 72 191 14 12
¥ 100.0 100.0 26.0 69.0 5.1 4.2
H e 28 25 5 13 7 3
i 100.0 100.0 20.0 52.0 28.0 10.7
GIIEREE - - - - - -
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12-3. EfEOWEEERIC O W TR TORMICBE A ZS W, <A%OTE [BHMEXE] >

ARb | ABEZE [ #n BV ek T~ B

KK 317 307 167 120 20 10
100.0 100.0 54.4 39.1 6.5 32

apL 7T 12 11 6 5 - 1
100.0 100.0 545 455 - 8.3

NRE AT 13 12 2 8 2 1
100.0 100.0 16.7 66.7 16.7 77

~L— 9 8 5 3 - 1
100.0 100.0 62.5 375 - 11.1

T 36 35 19 15 1 1
100.0 100.0 54.3 429 29 28
FTILE LT 30 30 13 14 3 -
100.0 100.0 433 46.7 10.0 -

A% 141 136 81 46 9 5
100.0 100.0 59.6 338 6.6 35
= AN - - - - - -
g - - - - - -
AF o 76 75 41 29 5 1
100.0 100.0 54.7 38.7 6.7 1.3
TITARY T A 1 1 1 - - -
100.0 100.0 100.0 - - -

2N BT F =T 14 13 3 8 2 1
100.0 100.0 23.1 615 15.4 7.1
2N Y T F =T e AL - - - - - -
T RTF = - - _ _ _ _
FT A - - - - - -
FIT - - - - - -
arTvA7 1 1 - 1 - -
100.0 100.0 - 100.0 - -
o= - - - - - -
s - B - - B B
77 F 77 b - - - - - -
FlL—n - - - - - -
v - - - _ — _
N Z T - - - - - -
SFaTHY - - - - - -
El—nB R - - - - - -
A b= 5 5 4 1 - -
100.0 100.0 80.0 20.0 - -
Fx Vb - - - - - -
XTR - LA 1 1 - 1 - -
100.0 100.0 - 100.0 - -
FT NI - - - - - -
T 75 - - - - - -
FLAua 3 3 1 1 1 -
100.0 100.0 333 333 333 -
XA m— - - - - - -
AV 2% 7SI N N 1 1 - 1 - -
100.0 100.0 - 100.0 - -
a7 - - - - - -
VA - - - - - -
HINA T - - - - - -
K< YRR - - - - - -
hy T AH—F - - - - - -
NS TR - - - - - -
BB - - - - - -
YT A A - - - - - -
HFLX 32 32 19 11 2 -
100.0 100.0 594 344 6.3 -
P ASEA 18 18 13 5 - -
100.0 100.0 72.2 278 - -
AH - - - - - -
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12-3. EfEOWEEERIC O W TR TORMICBE A ZS W, <A%OTE [BHMEXE] >

HEb | AR s R W A~ B

W 317 307 167 120 20 10
100.0 100.0 54.4 39.1 6.5 3.2

¥k IREE G 132 127 55 58 14 5
Fill 100.0 100.0 43.3 45.7 11.0 3.8
BB - BEAKENN T 12 12 6 6 - -
100.0 100.0 50.0 50.0 - -

fltE 2 2 - 1 1 -
(BhAR - #e - AbohkiE) 100.0 100.0 - 50.0 50.0 -
AR - MhE R 3 2 - 1 1 1
100.0 100.0 - 50.0 50.0 333

AbF - KL (A - A - - - - - -
7 ) T AR <) - - - - - -
FH A7) TR - - - - - -
I A 3 3 1 2 - -
100.0 100.0 333 66.7 - -

b, AhE 8 6 3 2 1 2
100.0 100.0 50.0 333 16.7 25.0

7T ATy 7B 3 3 1 2 - -
100.0 100.0 333 66.7 - -

= 3 0 1 1 1 - - -
100.0 100.0 100.0 - - -

= L 2 2 1 1 - -
100.0 100.0 50.0 50.0 - -

£¥E- A 1 1 - 1 - -
100.0 100.0 - 100.0 - -

sl 4 4 2 2 - -
(PR L & 5 Te) 100.0 100.0 50.0 50.0 - -
e 4 4 1 3 - -
100.0 100.0 25.0 75.0 - -

4B B 7 7 - 6 1 -
(A XML aE&ETe) 100.0 100.0 - 85.7 14.3 -
— sk 5 5 2 3 - -
(&7 - T B A 5 Te) 100.0 100.0 400 60.0 - -
TN - B 11 10 7 1 2 1
100.0 100.0 70.0 10.0 20.0 9.1

R - BN 17 17 8 9 - -
100.0 100.0 47.1 52.9 - -

i 16 FH p i 18 17 9 8 - 1
(B EhEE - —Hige) 100.0 100.0 52.9 471 - 5.6
i 08 AR 2R o 16 16 7 4 5 -
(I EhEE - ) 100.0 100.0 438 25.0 313 -
LRt 2 2 2 - 1 1 -
100.0 100.0 - 50.0 50.0 -

= = 2 2 2 - - -
100.0 100.0 100.0 - - -

FJI - HRR - - - - - -
= O B 3 11 11 4 5 2 -
100.0 100.0 36.4 455 18.2 -

LG B 185 180 112 62 6 5
100.0 100.0 62.2 34.4 33 2.7

- KEE - - - - - -
- MRE 3 3 - 3 - -
100.0 100.0 - 100.0 - -

Hr¥E 1 1 - - 1 -
100.0 100.0 - - 100.0 -

ByDBLii 1 1 1 - - -
100.0 100.0 100.0 - - -

Pt 46 43 27 14 2 3
100.0 100.0 62.8 326 4.7 6.5

Rt 75 74 49 24 1 1
100.0 100.0 66.2 324 1.4 13

ERAT 7 7 7 - - -
100.0 100.0 100.0 - - -

PRIR 5 5 2 3 - -
100.0 100.0 40.0 60.0 - -

FIF 1 1 1 - - -
100.0 100.0 100.0 - - -

LY=o 16 16 7 8 1 -
100.0 100.0 43.8 50.0 6.3 -

ANEEE 1 1 - 1 - -
100.0 100.0 - 100.0 - -

E% - BB - - - - - -
RTINS IRAT S I - - - - - -
WE/ Y7 b7 8 8 4 4 - -
100.0 100.0 50.0 50.0 - -

7T b 8 8 6 1 1 -
100.0 100.0 75.0 12.5 12.5 -

Z DOt FEREE 13 12 8 4 - 1
100.0 100.0 66.7 333 - 7.7

A - - - - - -
AP S 289 284 154 111 19 5
¥ 100.0 100.0 54.2 39.1 6.7 1.7
H e 28 23 13 9 1 5
i 100.0 100.0 56.5 39.1 43 17.9
GIIEREE - - - - - -
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12-4. BHOWEEBBIZHOWTLUTFTORMIZEEZLS LSV, <A4%OTE [EAANEER] >

Gt [ FA@EE | #Ehn BV ek N

ot 317 298 67 213 18 19
100.0 100.0 225 715 6.0 6.0

apL 7T 12 10 1 9 - 2
100.0 100.0 10.0 90.0 - 16.7

NRE AT 13 12 1 9 2 1
100.0 100.0 8.3 75.0 16.7 77

~L— 9 8 2 6 - 1
100.0 100.0 25.0 75.0 - 1.1

T 36 35 8 27 - 1
100.0 100.0 229 77.1 - 238
TILE LT 30 30 4 23 3 -
100.0 100.0 13.3 76.7 10.0 -

ARV 141 129 34 88 7 12
100.0 100.0 26.4 68.2 5.4 85
= AN - - - - - -
g - - - - - -
A¥ o 76 74 17 51 6 2
100.0 100.0 23.0 68.9 8.1 26
TITARY T A 1 1 1 - - -
100.0 100.0 100.0 - - -

2N BT F =T 14 12 - 8 4 2
100.0 100.0 - 66.7 33.3 14.3
NN YT F =T - A - - - - - -
BT = - - - - - -
FT A - - - - - -
FIT - - - - - -
a7y A7 1 1 - 1 - -
100.0 100.0 - 100.0 - -
o< - - - - - -
N AZVa=1 - - - - - -
TT7F 75 b - - - - - -
¥L—mn - - - - - -
v - - - _ — _
N Z T - - - - - -
SFaTHY - - - - - -
EL—B A - - - - - -
Ak 5 5 - 5 - -
100.0 100.0 - 100.0 - -
Fx Vb - - - - - -
XTR - LA 1 1 - 1 - -
100.0 100.0 - 100.0 - -
AT T - - - - - -
T 75 - - - - - -
FLAua 3 3 - 2 1 -
100.0 100.0 - 66.7 33.3 -
XoHTF e m— - - - - - -
AV 2% 7SI N N 1 1 - 1 - -
100.0 100.0 - 100.0 - -
NMa=vd - - - - - -
VA - - - - - -
HINA T - - - - - -
K< YRR - - - - - -
hy T AH—F - - - - - -
N7 T VA - - - - - -
BB - - - - - -
YT A A - - - - - -
HFLX 32 32 9 22 1 -
100.0 100.0 28.1 68.8 3.1 -
RG] 18 18 7 11 - -
100.0 100.0 38.9 61.1 - -
AH - - - - - -
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12-4. BHOWEEBBIZHOWTLUTFTORMIZEEZLS LSV, <A4%OTE [EAANEER] >

HEb | AR s R W A~ B
W 317 298 67 213 18 19
100.0 100.0 225 71.5 6.0 6.0
Eh- S 132 123 22 86 15 9
Fill 100.0 100.0 17.9 69.9 12.2 6.8
BB - BEAKE T 12 11 2 7 2 1
100.0 100.0 18.2 63.6 18.2 8.3

flttE 2 2 - 2 -
(WikE - Mk - (b7HHE) 100.0 100.0 - 100.0 - -
AR - ME B 3 2 - 2 - 1
100.0 100.0 - 100.0 - 333

Abt - KELE (R - A - - - - -
7 ) T AR <) - - - - - -

FH AT ) TR, - - - - -

. LT 3 3 - 3 -
100.0 100.0 - 100.0 - -
b5, AihE 8 6 3 2 1 2
100.0 100.0 50.0 333 16.7 25.0
7T ATy 7B 3 2 1 1 - 1
100.0 100.0 50.0 50.0 - 333

= 3 1 1 - 1 -
100.0 100.0 - 100.0 - -

= L 2 2 1 1 -
100.0 100.0 50.0 50.0 - -

2. A 1 1 - 1 -
100.0 100.0 - 100.0 - -
sl 4 4 - 4 - -
(PR L & 5 Te) 100.0 100.0 - 100.0 - -
k4R 4 4 - 4 - -
100.0 100.0 - 100.0 - -
4 B 7 5 1 2 2 2
(A v ®IMTEET) 100.0 100.0 20.0 40.0 40.0 28.6
— Ak 5 5 1 3 1 -
(&7 - T B A 5 Te) 100.0 100.0 20.0 60.0 20.0 -
TN - B 11 10 3 6 1 1
100.0 100.0 30.0 60.0 10.0 9.1
oS IR ER i 17 16 1 13 2 1
100.0 100.0 6.3 81.3 12.5 5.9
i 126 FH p i 18 18 2 13 3 -
(B EhEE - ) 100.0 100.0 11.1 722 16.7 -
i 08 AR 2R o 16 16 4 11 1 -
(A EhEE - —Hge) 100.0 100.0 250 68.8 6.3 -
LRt 2 2 2 - 2 - -
100.0 100.0 - 100.0 - -
=R A 2 2 1 1 - -
100.0 100.0 50.0 50.0 - -
FJI - HRR - - - - - -
T DA EGESE 11 11 2 7 2 -
100.0 100.0 18.2 63.6 18.2 -
LG B 185 175 45 127 3 10
100.0 100.0 25.7 72.6 1.7 54
- KEE - - - - - -
Jg - PR 3 1 - 1 - 2
100.0 100.0 - 100.0 - 66.7
IS S 1 1 - 1 - -
100.0 100.0 - 100.0 - -
it 1 1 - 1 - -
100.0 100.0 - 100.0 - -
et 46 43 15 28 - 3
100.0 100.0 349 65.1 - 6.5
Rt 75 73 12 59 2 2
100.0 100.0 16.4 80.8 2.7 2.7

AT 7 7 5 2 -
100.0 100.0 714 28.6 - -
PRIR 5 5 - 5 - -
100.0 100.0 - 100.0 - -

IR 1 1 1 - ,
100.0 100.0 100.0 - - -

LY=o 16 16 5 11 -
100.0 100.0 313 68.8 - -

ANEEE 1 1 - 1 -
100.0 100.0 - 100.0 - -

E% - BB - - - - -

RTINS IRAT S I - - - - -

WE/ Y7 b7 8 8 1 7 -
100.0 100.0 125 875 - -
7T b 8 7 3 3 1 1
100.0 100.0 42.9 429 14.3 12.5
Z Dt FEREE 13 11 3 8 - 2
100.0 100.0 273 72.7 - 15.4
A H - - - - - -
PN S 289 274 62 197 15 15
% 100.0 100.0 226 719 55 5.2
HLF e 28 24 5 16 3 4
i 100.0 100.0 20.8 66.7 125 143

GIIEREE - - - - -
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